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1. IFA=11,2 3and B=1{1,2] and C = {4, 5, B},
then what is the number of elements in the
set AxDBRC?

{a) B
by 9
{cy 15
{d} 18

2. There are unlimited number of identical balls
of  four different  colours.  Ilow  many
arrangements of at most 6 ballz can be made
by using them ? |[to be arranged in a single
row anly]

{a)} 1385
{by 2730
{c) 5460
{d} None of the above

3. Let Z be the set of integers and ‘o' be a binary
operation of Z defined by acb=2a + b -ab
for all a, b ¢ X What is the inverse of an
element a (2 11e &7
fa) afta- 1)

(b afil — a)

(e} (a-1)a

{d! None of the above
4, i 765 Sl SV, 0, then what is the value of

5 K

Z [H" _‘___!__J v,

n=1 x"

fa) 8

(hy 10

(e} 12

id)  None of the above
P-TSB-M-NND

(2-A)

If n 1s the positive integer zuch that

[] + & ¥ ‘,|{2:In = au 4 H‘]x 4 ﬂz.'*:z g ngnxﬁr:r
Zn
Lthen what is the value of Z a ?
:
r=40 E
{a) O
{h} 311+I
¢y 31!
(d)y 3"

If (x+ 1) (x+ 2) {x + 3) {x + 6) = 3x°, then
the equation has

{a) all imaginary roots
{h} all real roots
{c;  Lwo rational and two irrational roots

{d} two imaginary and two irrational roots

If #e :i::, where | = ,_.f'—_l, then what is
the value of 2 ; 2
K4
() i
{by 0
fey 1
(d) ~—i

If fix), gix) and hix) are three polynomials of

Ifix)  wlx)  hix)
degree 2 and Alx) = ["x)  g'ix) Wix)
Fxy  g"(x) h"(x)

then Alx} iz a peolynomial of degree (dashes
denote the difTerentiation)

fa) 2
b 3
fer 0

(dl  ar most 3



11.
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(d} fourth quadrant

th ;
There are two sequences whose no toerm s
riven by
1. a. =y
4] n-|
a, = 1, a

L where n = 2 with

,=2

b
=
t

2a . with a, = 2, where n > 1.
n n=1 1

Which one of the following is correet in
respect of the above 7

{al 1 and 2 are both APs

{bl 1 only isin AP

ey 2onlyisin AP

idr  MNeither 1 nor 2 is in AP

14.

- A

If A is @ non-singular square matrix sach
that A% — A + 1 =0, then what is A ' equal
to ? (1 is identity maotrix of same order as A)

fa) 1

thy 1+ A
() A?
dy 1-=A

A group of order 6 has an element of vrder

(al 2
{by A
fcih 5
(dy 7






















































